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Sel Pzaclie 
A box Centains 49 Chocalatus Hou many Chocolates ane 

Theu im 38 uch boxes ? 

SoLutim 
Total Chocolat a box Contaim 49 

Numbes boxes 
Tobal Chocadatt um 39 boxes = 38 x49 

= 38 

38 
X44 

3+2 
tI52X 

862 
18 2 Checolatu in 38 boxes: 
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(Dete 201 

2 gman put 34 hamge im 0arh sl 23 baskels Hw 
manyShanges did Aman put in ali ba baskets 2 

Selution 
Total samgesin ia bawtet 34 
Number bawiet 

Totat ohamges in 23 baskes = 23.X34 
23 

23 
X34 
O12 

18 2 
782 0hanges im 23 baikets 



3 Mumna has 32 goata. His umcle has 40 limesas 

manyHots manygoai does his Unel have 2_ 

Solution 
Numbe ogoals mumna ihas =32 
Numbeogdata iUneleha 40 mis od uma 
otagoat Umcle has 32x 40 

32 
X40 

128x 
L28 0 

1280 goata umcle. hae 


